
 

 

Solve. Name _________________ 

Add. 
 4 + 4 + 6 =     7 + 3 + 5 = ____ 

 
 
 
  10 + 2 + 2 = ____  5 + 8 + 2 = ____ 

 6 + 3 + 3 = ____  5 + 2 + 3 = ____ 

 6 + 5 + 6 = ____  9 + 4 + 1 = ____ 



 

 

7 cats are playing.  
4 more cats join. 
3 more cats join. 
How many cats in all? 
 
 
 
____ cats 
 
Joe has 5 stickers. 
Max has 8 stickers. 
Sue has 5 stickers. 
How many stickers in all? 
 
 
 
 
____ stickers 
 
Sue sees 3 dogs. 
Lee sees 6 dogs. 
Nick sees 4 dogs. 
How many dogs did they see? 
 
 
 
____ dogs 


